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 Problem 1 Input: (4,2).

Cycle 1
p= O' Cg= Y
Is the statement ¢ < b tﬁae o'r ?'
Cycle 2 |
p=| g= 1

Is the statement g < b true or y@

Cycle 3

P = T g= O

Is the statement q < b frue ér false?
Output (p,q) = (7, o)

What does the oulput mg\aa.n?

U=z 70



Problem 2 Input: (2,3).

B Cycle 1

p=0 g= 7

Is the statement g < b or false?

Output: (p,q) = (O, )

What does the output mean?

2-0%x

Problem 3 Input: (8,3).
: Cycl_e 1 |
p=0 =9
Is th,.e statement ¢ < b t?_"ueé or @?

Cycle 2

p=| =6

Is the statement g < b true or@

P



Cycle 8
p=1 g="1

~ Is the statement q < b@fr false?
Output: (p, gj =( 2,1/

What does the output mean?
| (2 =773 v

Let us switch to the binaries.

Problem 4 Input: (1011,100). -

Cycle 1

p= 0 g= 1ol]

Is the statement g < b true or false?
rol -

Cycle 2 -100

y Ut

p= ' g=1l

Is the statement g < b true or@?



Clycle 3
p= 10 qg= \\ , ! |

js ;he statement q < bor false?
Output: (p q) = (\D; | )

What does the output mean?

\O\\ - \O)(\OO + \\

Let’s check...

\0 R

e, = \+x  W decimal value please
1005 = L[ decimal value please

Divide the first decimal number by the second (with the remain-
der) and see if everything works out right.
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